255A

VFYNY/oF

aa

P
V «og9 N JLio Wb gole Jluo oy jo»
FN\NL | S8 phizo plio

a

J5s

)
)
@\
A

\ | [0)]

&&

Ozl (ol (65 40
S35 Do pgle O)l55

2558 B3l o Dl

an

‘f’r le— J"é &w”b M,'wm)lf 6'&0}3@ S9939 u’b)i

an

an

((59La) = 1YY] u5) Ladtga (wvigo

ﬂ AL Voo 1 g g8l olojoe e Jl5w Sloxi 1
W Jlgu 0 ylouls g olas ‘@bé‘.ol Sgo ylgie
- o lous G | o loud 31 | Jlgmw olonns ol olge Yy
¥o \td Y- (soige Sladlyy g Sl y0d @¥oleo) lusly Y
e - -
[ | g Solodgey «Suolong ol sVl Solo) Siolung !
gn £ v Jool § Seeludgey « Sioludg o SS) g 2395 v
(S yel>
[
¢ V-0 e Y. (ol Julos cgdlascuoglio «liles ) «Spolid) olon (loojls
VY- Ve& AT 0l plual b

Q_/n"f\_)t_/’r\)UT\JL/T\JL/%‘\JL/T\)L/’I\)L/T\_)L/T\) %

0410 (oo 0 y0d ‘Qg.o}i oo

o jlro Gl (il 31 oolaswl

UL ULU UXU

vuv

vy oy vy

vuv

2 42 4RI T h . 2 h A A

g0 by Ol ylo iy cpuliiin b g bl oo jlome ylojl (! oo b e (Sgi g > (ol (oalod 12 ccy903T 5135 32 3 (o g (S iSUN) gy y 40 Yoy g iS5 0l 3>




Y axio 255 A ((59Le) = 1YY 0S) Liblgd swiigeo

el 5303 ] Al 38 Loy yguds> pis A oy g9 5 Jgu Ol yiie 43 Ll 9 Slaskiine Zy3 pue 0l )5 calbogld %

0y louds (4099 oy luss (oS ‘sbb‘T b 910 0 5Losls b ol
5 €55 il 4z 3585 5 iy YU chudir 0 355 S5 SV 35 2 ykie (oalbsls o3lech b 335 oo
wileden a1 plaslidusly s 5 B 15w 4z 5580 (59, 2 ol yd J S oS

:Lawo!

g S) (i 5 o508 HUj

PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the answer on your answer sheet.

1- If you want to excel at what you love and take your skills to the next level, you need
tomake a .......ovvviiinnnnnn to both yourself and your craft.
1) commitment 2) passion 3) statement 4) venture

2-  Itis usually difficult to ........cc......... clearly between fact and fiction in her books.
1) gloat 2) rely 3) raise 4) distinguish

3-  Some people seem to lack a moral .................... , but those who have one are
capable of making the right choice when confronted with difficult decisions.
1) aspect 2) compass 3) dilemma 4) sensation

4-  The factual error may be insignificant; but it is surprising in a book put out by a/an
.................... academic publisher.
1) complacent 2) incipient 3) prestigious 4) notorious

5- In a society conditioned for instant .................... , most people want quick results.
1) marrow 2) gratification 3) spontaneity 4) consternation

6- One medically-qualified official was .................. that a product could be so

beneficial and yet not have its medical benefit matched by commensurate
commercial opportunity.

1) incredulous 2) quintessential 3) appeased 4) exhilarated
7-  Some aspects of zoological gardens always .........ccceeeeeee me, because animals are

put there expressly for the entertainment of the public.

1) deliberate 2) surmise 3) patronize 4) appall

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark the correct choice on your answer sheet.

Online learning has been around for years, but it really took off during the
COVID-19 pandemic. Many schools and universities .................... (8) transition
to online learning, and this trend is likely to continue in the future. There are many
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benefits to online learning, .................... (9) accessibility and flexibility. Students
can learn at their own pace, and from anywhere in the world. Online learning
.................. (10) affordable than traditional in-person learning, making education
more accessible to a wider range of students.

1) forced to 2) have forced

3) were forced to 4) forcing

1) including increased 2) they include increasing
3) and increase 4) they are increased

1) is also more 2) also to be more

3) which is also more 4) is also so

PART C: Reading Comprehension

11-

12-

PASSAGE 1:

Wingtip devices are intended to improve the efficiency of fixed-wing aircraft by
reducing drag. Although there are several types of wingtip devices which function
in different manners, their intended effect is always to reduce an aircraft's drag.
Wingtip devices can also improve aircraft handling characteristics and enhance
safety for following aircraft. Such devices increase the effective aspect ratio of a
wing without greatly increasing the wingspan. Extending the span would lower
lift-induced drag, but would increase parasitic drag and would require boosting the
strength and weight of the wing. At some point, there is no net benefit from further
increased span. There may also be operational considerations that limit the
allowable wingspan.

Wingtip devices help prevent the flow around the wingtip of higher pressure air
under the wing flowing to the lower pressure surface on top at the wingtip, which
results in a vortex caused by the forward motion of the aircraft, the winglet also
reduces the lift-induced drag caused by wingtip vortices, and improves lift-to-drag
ratio. This increases fuel efficiency in powered aircraft and increases cross-country
speed in gliders, in both cases increasing range. U.S. Air Force studies indicate
that a given improvement in fuel efficiency correlates directly with the causal
increase in the aircraft’s lift-to-drag ratio.

The less air drag the aircraft generates, ..........cc........ .

1) the more efficient it can operate

2) the more wingtip devices it uses

3) the lower lift-to-drag ratio it produces

4) the less functional it is in different manners

Increasing the wingspan leads to all of the following EXCEPT ................... :
1) requirement for adding weight to strengthen wings

2) reduction of aircraft’s lift-induced drag

3) decline in lift at any given speed during take-off

4) increase in friction between the air and the aircraft surface
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13-

14-

15-

16-

17-

19-

20-

Wingtip vortices, as referred to in the passage, ........ccccuveveens .
1) increase the air pressure under the wings

2) are unavoidable consequences of lift generation

3) create the energy needed for forward motion of the airplane
4) are an integral part of many aircraft to increase speed

The wingtip devices, according to the passage, .......ccccceuveeeee. .
1) result in increase in the wingspan in gliders

2) increase fuel efficiency in both gliders and aircraft

3) cause cross-country speed increase in any kind of aircraft
4) increase range in gliders as well as powered aircraft

The author’s tone in this passage is .....ccccevvunennes
1) cynical 2) objective 3) mtlmate 4) inquisitive
PASSAGE 2:

The efficiency of turbine engines improves as the operating temperature of the
working fluid in the turbine increases. However, higher fluid temperatures in
turbines lead to turbine blade failure as a result of exceeding temperature limits for
the turbine blade material. A common means of cooling turbine blades is film
cooling, in which the goal is to protect the blade surface from the hot cross flow
by a film of cooler fluid injected through holes in the blade surface. These film
cooling holes must be designed in such a way that the coolant jet covers and
remains near the blade surface and does not excessively penetrate into the cross
flow. The film-cooling jets consume a significant amount of process air, and
therefore an important design goal is to maximize the cooling and minimize the
mass flow through the jets.

The relation between operating temperature of the working fluid in the turbine and
performance of the engineis ..................... .

1) neutral 2) adverse 3) direct 4) accidental
The turbine blades, as stated in the passage, ........cccceuveiennns .

1) cannot tolerate high fluid temperature

2) decrease the temperature in turbine

3) improves the efficiency of turbine engines

4) affects the operating temperature in engines

Film cooling, according to the passage, .......ccceevuunneee .

1) creates holes in the blade surface by injecting fluid

2) forms a protective layer between the blade surface and hot air streams

3) is the result of exceeding temperature of the turbine blade materials

4) produces a film penetrating into the cross fluid

The coolant jets .......ccocevveennne

1) must separate into the stream 2) filter the cross flow

3) make excessive coverage 4) exist near blade surface
The mass flow through the jets ....................

1) has to be consumed 2) maximizes the cooling

3) removes the process air 4) covers the film cooling
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22-

23-

24-

25-

PASSAGE 3:

The possibility of structural fatigue from any origin has been actively considered
since the advent of pressurized aircraft when there were accidents attributable to
an insufficient understanding of some basic design issues. Since then, aircraft
design procedures have involved the carefully-researched creation of structures
which will withstand a stated number of flight cycles and/or flight hours with a
low probability that the strength of the structure will degrade below its designed
ultimate strength before the end of its approved life. However, sometimes older
structures are found to no longer meet their damage tolerance requirements
because repeated cyclic or exceptional ‘g’ loading has unexpectedly produced
cracks of a sufficient size and density in a structure to weaken it so much that it no
longer has the intended residual strength. This may happen not just in metals but
other materials which are increasingly used in aircraft construction. The only
available defense is better detection inspections during base maintenance including
the use of NDT. In some cases, this means proper application of existing
maintenance procedures, especially in respect of repairs; but in other cases, the
specification and oversight of those procedures has been such as to make detection
of dangerous levels of structural fatigue unlikely, especially when a direct or
indirect consequence of a repair.

This passage is mainly concerned with ....................

1) aircraft design procedures 2) the advent of aircraft

3) aircraft accidents 4) aircraft structural fatigue
In aircraft design, ..................

1) methods used require the least repairs

2) an approved life is defined and determined

3) materials with the highest strength are used

4) there are still insufficient understanding of basic issues

The word meet in the text is similar in meaning to .................. .

1) impose 2) satisty 3) identify 4) specify
You can find out from the passage that ‘g’ load is ...........cccoeuvuee

1) the cracks of a sufficient size and density in a structure to weaken aircraft
2) the remaining strength, when damage is present in the material

3) a factor in the aircraft that should be measured and checked

4) the intended residual strength considered when design an aircraft

The results of aircraft repair ...........c.ceuee.e.

1) may cause dangerous levels of structural fatlgue

2) lead to a permanent maintenance procedures

3) result in the defense of detection inspection

4) are recorded in base maintenance such as NDT
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